H224E3A7H BEMRSTE—RI—ILIZFRE / 34 LT—TIL

=23 {E2peE -3 thEafE =23 BEE
J5uR A TSR JIUK B U5k Joukr C 5k
HEkMH 10-2-10 BT 12-2-12 E8=L: 12-2-12
~840 HELRY—)EE
[8:40~8:40 R H— LR FREE A FRS ./ =i%
[8:50~9:202 29— )L R EFIERHE
1] 920 ~ 2% 12 gyt 4 | 920 ~[AF 3 mRvsEda 4 | 020 ~6F 4 @ilveimm - 188 2
(&%) Chogz Jin (BR|\)
2| 945 ~(15) o ympmvemm 6 | 950 ~B%g muiivsmF o o 90 ~5F 4 BiBvsEE-EW 5
(e hn @I (e
3| 1010 ~ 25 4 KFvetpiil 14 |00 ~AF 5 mEjiveBE 1 |10 ~BF 4 KFvsHFHE 6
(BAFR) (FHPF D) =)
4] 1035 ~ 1ﬁ-: 11 m]E“IVSEHE 2 10:50 ~ sﬂ': 5 %P}VS@“I 5 10:50 ~ 5ﬂ£12 ﬂﬂEJIIvsH’ﬁ’PﬂE 0
(KF) (hogz i) (UERR)
5[ 1100 ~ 2% gippaysmRb 6 |1120 ~4%F 14 EmBvsAF 0 1120 ~[6F | FFvswIL-AS
(I (BEER) (=Fb - R 4R
6] 11:25 ~|1£

16 AFvemE L o 1190 ~ 3%
(SRR

12 hﬁﬂﬁvsﬂuﬁm 4 |10 ~I5F 11 miveBAE 1
MR DE) ()
7| 1155 ~ 253 mmparvatpil 41220 ~AF| smEvsFEN 5 1220 ~6F ¢ IJIJETJIIvsﬂ*JII 3
(hdg (B5®) (R
8] 1220 ~ 15 7 mnarpilvstEgk 4 | 1250 ~ B 5 BBvsENI 4 |1250 ~5F 5 @iFAVSEIEB 4
(BAA) (B®) (OKF-fRi)
9| 1245 ~ 2% | m)ilvsiab 9 | 1320 ~(AF| 7 ERpvsEE D4 8 | 1320 ~[65F 10 {FFveWILB 1
(FAR %) (1) (JERR-HH)
10~ 0 o A &R
101010 ~l2 o e a1 1950 ~3%| o s, et 15| 1290 ~ (5o T O SIER RR
(XF) (BHA) (BHA)
111335 ~ 5o mrvemmoa d 1420 ~ 4 s gvemain 2 |2 ~8F smmwemEsss
(B8) (XF) (€:311D)
12] 1400 ~ 24

13

5 AFvemEbE 7] 140 “BF s mEveE
(IERR) (DERR

1425 ~ |15

.
=

@3 1450 ~|6%F
)

5 B - EERvsinT I 3
(XF)

smm vs Ax4 'SP A
(R %)

12 iERRvs A F 1
(BAR)

15:20 ~|64F

6 XFvsBHf 3

(hoJil)

171 R=



